


MATHS SPECIAL

REGISTRATION

OPEN 1 YEAR VALIDITY

INCLUDES USEFUL FOR
O LIVE Classes O SSC EXAMS
3 Result Oriented Approach J  BANK EXAMS
. PDF Notes O CSAT
J Conceptual Clarity J STATE GOVT. EXAMS
' DOWNLOAD TAIYARI KARO APP TO JOIN THE BATCH (™ A

SACHIN BALIYAN SIR

g



ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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A Man borrowed some money and __

agreed tgo pay off by paying the (1Y
eng fand 4410yat th€ end c

ear. if rate “of compounc
interest E’@ per annum . what is the
money borrowed? T&H HEGHT o FO
3 I3ur |fav X g W F Ha
R @y @ & 3id & as10(
Mol $ta & dI g1 T
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A Man buy a saree for his wife and paid 2000 a
cash down payment and agree to pa :

remaining amount in the
end of(1st yeay he paid 840 Anc
year he paid 1264. '

compound interest is §
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A man purchase a motorbike for a @
certain price &promise to pay the price @ \%obg—..———a @

in 3 equal annual_instalments of 10800
at the rate of 20% per ag_qyr;@ﬂﬁnd ﬁ
the CP of motor bike? W‘/ 40/ @ °°? S (b/

FIAT § Al THIE sarer H

20%uﬁai%lmztin's$ak@ v
T 9dT HAIMT?

(a) 22750 (b) 23750 (c) 20750
(d) 24750 (e) None of these
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A man borrowed a sum of 25220|from a
bank and promise to pay the amount in

3 nnual-mstalment at the rate of
(5

% per annum Cl . Find the value of
each instalment. TU&h HICHAT o UTH
d% mzo & Tfer mﬁaﬁ 3ﬁz
5% aasqgiil sqlof al ¢
3 affs WA fed # R @

Fl HT qrer | m
y FT Aed AT HifAC
9261 (b) 8000 (c) 12060
(d) 10608 (e) None of these
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-
Two payments of 10,000 must be O .
made one year and ToIlr years from now. *L! °

TS 0 » 73
If money can earn 25% /Pa compounded /
annually, what single payment now

would be equivalent\ to the two

O
scheduled payments? 10,000 & & /A /LDJ(
AT Tedd H HT A\ TH I§ m‘hb 4 W

ay 9@ v IJ= \Ofgel Ife t
£ e
\
A) 1209 B) 12396 /»\ C
C) 12496 D) 12596 | )/

7~
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Nandini purchase a laptop costing Rs 49640

and promise to pay in two equal instalment

of equal amount at the end of @and

years . if shopkeeper charge it with an

annually .What is the \payment amount of
each instalment ? el o 49640 IUA

$ AP IIET U ogeg @deEr 3w 1
AT 4 @A F HT A WA Ofr i Q)
A fFea A 9 A HT qET
fFam PR gFEER WEET 12.5% @
OTST ¥ & UIY g1 oo &dar g, al
A% fRea & spararer AR _F4r 82

A) 8906 B) 1089
C) 1070 NENE

,\,)M b

@:’4\?______—- 7('\
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65000 invested. into two schei es@&o @ @

for( 2 years at annum annum

respectively. the CI from both [0 A
schemes is # Find the money
invested in scheme A? 65000 ] @ 12
10% afds 3 20% afds & @
frar afg & st & o gAS
gl T A # @ Far
AT HITAT?

(a) * 44000 (b) * 21000

(c) " 1000 (d) * 20000
(e) None of these
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5887 is divided between Amit and Sumit, so
that Amit’s share at the end of 9 years may
equal Sumit’s share at the end of 11 years,
compound interest being at 5%. Find Sumit’s

share. 5887 &I AT 3R gﬁ?l' &
fenfara fFar = §, aife 9 ¥ &
H FAAT &1 B, 11 91 &
gRd § R & T Eﬁ

8
ia

S 5% @ | AT & REE F gan
S|

(a) " 2028 (b) * 1800

(c) * 3087 (d) * 2000

(e) None of these
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Find the ratio of sum of money which
are invested in 3 schemes at 10% per
annum Cl annually for 1 year, 2 years

and 3 vyears respectively and their
respective amount are equal? 1 a¥, 2

a¥y 3N 3 a¥ & v afs & &
10% 9fd a¥ &Y X | 3 Qo3 A
faer &1 1 i & Hqua F
qaT @9, €t 3AET uied g
g AT §ATT 872

(a) 121:110:100 (b)100:110:121

(c) 110 : 100 : 121 (d) 121 :100: 110

(e) None of these







